Subject: Re: 8 Pi Crossover questions
Posted by Wayne Parham on Sun, 27 Nov 2011 03:38:31 GMT
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Answers by numbers:

1. L1is 1.0mH.

2. We jumber the 3+ pad to the 2+ pad. The L4 coil essentially bypasses the R4/R5 divider
circuit that feeds the midwoofer.

3. All resistors are 10 watt non-inductive parts.

4. R4 and R5 provide the proper amount of damping, which is also what zobel does.

5. L2 is a jumper. Note also that there is no L3. The L3 and R4 positions are shared. Some
crossovers use L3 and others use R4 but none use both.
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